AP Calculus
Review Derivatives (1)
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25-27: Find an equation of the tangent to the curve at the given point.
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28-29: Suppose that h(x)=f(x)g(x) and F(x)=f(g(x)), where f(2)=3, g(2)=5, g'(2)=4, f'(2)= -2, and

f(5)=11.
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30-32: Suppose f and g are

functions whose graphs are shown,

let P(x)=f(x)g(x),
Q(x)=f(x)/9(x), and

33-40: Find f'in terms of ¢’
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PO- R g(x) R(0)= 40IR- Pyl Cle- # (9tw)
P-k9@ GO ) L Lqul? (0= £'(qw)-g )
Po) Fyg () v £ @) G 1@*‘; (5) - Fo)a ) Clo)= £ (4())-§2)
p2)= (1(B) F LAY Ca@)™" 1ei(9)z plig) 57
7’(2:) a-4 @(9): Y(-1) - 9%9) 0'(9)= [%][9]
Pl - C(9) =l

33. /(1) =X g
g0+ 400[2¢)
Mzﬁ'(k) ’fo'lxg(K)

34. f(x)=g(x*)
3'(%)[9;3
9(%'(&'—7‘")

36. £(x) = [¢)]
g 9t

gl

36. f(x) = g(g(x))

4Tg0e)] - 9't)

37. f(x)=g(e")

Jlede

39 flxy= ln|g(x)|

J .q'ly
5([) ﬁ
(x)

40. f(x)=g(Inx)

4l L
8'[mu]

v




